Fall 24

MATH 5A - TEST 2 v1
(2.1ii-2.6, 2.8, 2.9)

100 points NAME:

Show your work using clear presentation and explanation.
Correct notation must be used. Phones must be OFF and put away. No graphing calculators allowed.

When computing derivatives,
e Use correct notation
o Labelf, f clearly
o Simplify f’(x):
o No complex fractions,

o No negative exponents,
o Combine fractions

(1) For the function y= f(x) = x°, circle T if the following notation is correct, F if incorrect.
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b) y=7x"sec(x)
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In problems 5- 6 find Y& . Work carefully, very limited partial credit will be given. (8 pts each)
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In problems 7- 8 find f”(x) . Work carefully, very limited partial credit will be given.
(8 pts each)
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(9) Find the equation of the tangent line to the curve 2x° + 2y2 9xy =0 at the point (2,1).

(Graph is provided to help you check whether your answer is reasonable if you want to)
(10 points)
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(10).  (a). Find equation(s) of the tangent line(s) to f(x)= x° that contain(s) the point (2,0)
(b) Graph your line(s) on the given grid to see if your answer is reasonable. (14 points)
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(11)
7. Two airplanes are flying in the air at the same height: airplane A is flying east at 250 mi/h and airplane B is
flying north at 300 mi/h. If they are both heading to the same airport, located 30 miles east of airplane A and
40 miles north of airplane B, at what rate is the distance between the airplanes changing?
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